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CBT Practice test model answers

Business Tax (BTX)

Practice assessment 1 FA 2011
Section 1
Task 1.1
[image: image2.png]‘Show whether each of the following statements is true or false by ticking the correct box.

Tue  Faise

Satsestva e oy b e o e =2

When a person sells an asset because they urgently need money, this indicates
that a trade is being carried on

The shorter the period of time for which a person holds an asset, the more likely
the indication that a rade is being carried on.





Task 1.2
[image: image3.png]Show how each of the following items would be treated i the tax computation of a sole trader by
dragging the correct boxes into the table.

Disallow and
[Political donation add back
Disallow and
|chocolate eggs for customers' children add back
Allow
|Allowance for specific doubtiul debts
Disallow and
|Class 4 Ni Contributions add back
Disallow and
|Sole traders salary add back
Allow.
[Repairs to factory walls
|Donation of shirts to local football team with company logo Allow
Jon front
Drag tems: Allow. Disallow and Disallow and
add back deduct





Task 1.3
[image: image4.png]Atrader started a business on 1 January 2011, making up his first set of accounts to 30 September 2011

His taxable profits were:

- Period ended 30 September 2011 £17,280
-Year ended 30 September 2012 £29,760

Using this information, complete the following statements.

His taxable profits in his firstyear of rading were: £ [5760

His taxable profits in his second year of trading were: £ [24720

‘The dates that applyto his secondtaxyear of trading were: 01 / 01

I

to

31112

I

His taxable profits in his third tax year oftrading were: £ [29760

His overlap profits were: £ [13200





Task 1.4

[image: image5.png]Using this information, complete the following table, assuming the company wants to claim loss relief as early
as possible. I your answer is a zero, enter ‘0" i the relevant box. Do not use brackets or minus signs.

[Taxable profits 55,030 il 11.240)

|Capital gain 1920

[Trading loss ofiset against
future year

[Trading loss ofiset against
|current year

[Trading loss ofiset against
lorevious year

18700

[Total 36330 0 13160





Task 1.5
[image: image6.png]Mac joined Monks and Josh in partnership on 1 October 2011. From that date, profits were shared 5:3:2 respectively.
‘The taxable profitfor the year ended 31 March 2012 was £240,000.

(a) Calculate the division of profit from 1 October 2011.

Mac Monks

60000 | 36000 | 24000

Bird and Perkins are in parinership with an accounting year ending on 31 August. They received a salary f£18,000 each and
interest of 4% on capital accounts of £15,000 and £18,000 respectively. They shared profits 60% to Bird and 40% to Perkins
“The taxable profitfor the year ended 31 August 2011 was £64,320.

(b) The division of profit would be calculated as:

[satary 18000 | 18000

lInterest on capital 600 720

|share of profits 16200 | 10800





Task 1.6

[image: image7.png]Peachy Ltd has the following information for its 17 month period of account ended 30 June 2011:

[Trading profit 65,256
[Bankinterest received on 30 June 2010 .265|
[Bank interest received on 31 May 2011 46|
[Capital gain in July 2010 4,658
[Capital gain in April 2011 7,858
[Gift Aid payment June 2010 2,000
[Gift Aid payment May 2011 ,000]
[Charge on income Aprl 2011 2500

Complete the following statements by dragging the correct answers into the table.

[Tracing profts will be fime apportionea
lBank inerestreceived wil be. allocated fo period in which arises
|Capital gains wi be allocated fo period in which arises
|cin Ata payments wi be. allocated fo period in which arises
|charge on income will e allocated fo period in which arises

Drag tems: [time apportioned. [allocated o periodin which arises.





Task 1.7

[image: image8.png](a) Explain how short life assets are treated in capital allowance computations.




[image: image9.png][Shortlife assets are treated on an individual basis.

The asset stays in its individual pool for eight years.

Ifitis not disposed of within those eight years, itis transferred to the main pool.

iritis disposed of within those eight years, a balancing allowance or balancing charge wil arise.
[Such an election is not made ifthe assetis entitied to 100% FYA.

Short ife assessmentis not available for cars.





Task 1.7, continued

[image: image10.png](b) Calculate the total capital allowances for the two periods to 31 March 2012 and 31 May 2012.




[image: image11.png][uamya  Generalpool [MD'scar [Total llowances|
[FosTHarch 2072
[ 8720 [25270 [3000
= [7000
23210
pisposal 1060
fa7720
fratons 25540
m 100000 == [f00000
[123350
[WORZ0% f24672 f2a672
95688, 27672
ey 2012
Dispasalvatues les000 [15000
[Batancng afowances g g2 27698






Section 2
Task 2.1
[image: image12.png]Tick the appropriate boxes to show which two of the following assets are exempt from capital gains tax.

Part gisposal of land.

Gifts made to charites.

Disposals between husbands and wives.

An asset destroyed by fire.

Disposals made on the death of the taxpayer.





Task 2.2
[image: image13.png]Compute the capital gain made on the disposal of this asset.

[Proceeds 34500
lcost 2450
Indexation allowance on cost 4520
[Enhancement expenditure 4700
IIndexation allowance on enhancement 1787
|Gain on disposal 15154





Task 2.3


[image: image14.png]ne 2011 [37.500
Proceeds (1500x£25) [31500
s1(1,500x21) [6.000
il 2001
Bougnt 1400 [16.800
indexation allowance 6031
2831
Soia l500
[ooo [ae77
Proceeds (500x£25) [2500
= 154
#3385
Total gain [0345






Task 2.4
[image: image15.png]The following are the capital gains and losses made by Larry for 2010/11 and 2011/12.

010111 |Gains 17,000]
[Fosses 3,200
otz [Gains 20,100)
[Fosses 5700

Larry has unused capital losses brought forward from 2009/10 of £4,500.

Assume the annual exemption in 2010111 is the same as 2011112,

Complete the following sentences. If your answer is zero, enter 0 in the appropriate box.

The amount of loss from 2009/10 used n 2010111is: £ [3200

The amount of loss carried forwardto 2011/12is: £ [1300

‘The amount of annual exemption used in 2011112 is: £ [10500

‘The amount of chargeable gain in 201112 s: £ [2500





Task 2.5
[image: image16.png]‘Si sold his restaurant premises on 1 January 2012 for £265,000. It had cost£158,000 in June 2001.
InMay 2011 he purchased two smaller restaurants: a pizzeria for £125,000, and a curry house for £145,000.

(a) Complete the following sentences:

The amount of gain to be rolled over is: £[107000

The base cost of his two new restaurants is: £ 163000

(b) Show whether the following statement s true or faise by ticking the appropriate box.

‘Si would still have been able to claim rollover if he had purchased the pizzeria oy

Tue

False






Task 2.6
[image: image17.png]For each of the following statements that relate to National Insurance contributions,
tick the appropriate box to indicate ifitis true or false.

Class 2 NIC s payable by persons of any age.

Te  False

Class 2 NIC is charged at a flat weeky rate.

Class 2 NIC s payable when taxable profits are above 3 certain limit.

Class 2 NIC s payable only once, irespective of how many businesses the taxpayer has.





Task 2.7
[image: image18.png]Show whether each of the following statements is true or false by ticking the appropriate box.

Tue  Faise

Ifthe amount of tax payable for the previous year by self assessmentis less that £2,000
there will no payments on account for the year

Payments on accountincluge income tax and Class 4 NIC.

There are no payments on account for capital gains tax.

Where a taxpayer expects this year's taxliability to be less than last year, he can reduce
his payments on account

[SESQES





Task 2.8
 [image: image19.png](a) Drag the correct box below to the information given on each company to show the rate at which they will
pay corporation tax.

Rate of

corporation tax

26% less
1,000,000| 250,000 0 12monhs || margina refiet
26%
800,000 120,000] 1 12 months
26%
600,000 75,000 1 10 months
26%
450,000 0| 2 9 months
20%
200,000 0| 0 9 months
26% less
200,000 50,000 0 smontns || yarginal refiet





[image: image20.png](b) Select the correct answers to complete the following sentences.

Alarge company has a year ended 30 November 2011

e fistntalment of ororaion o wl be s an
The rate at which corporation tax is determined is based on a company's [augmented profits |3

The acual rate of corporation taxis applied fo a company's - [1axable profts v




Task 2.9

[image: image21.png]Match the mistake made listed on the left to the correct penalty.

Note that not all the boxes on the right may need to be used and that they also may be

‘used more than once.

|Late payment of payments on
laccount

Interest only

Penalties:

2100

[Fate payment of balancing payment

Interestand penalty

23000

[Deliberate but ot concealed failure
lto notity HRMIC of chargeabiliy to
ftax

Up to 70% of potential lost revenue

Interest only

Interest and penaty

[Deliberate and concealed error
Imade on ataxreturn

100% of potential lost revenue

[Up t0 70% of potential lost revenue

[Failure to keep proper records

23000

100% of potential lost revenue

[Filing of  tax retum two months late|

2100






Task 2.10
[image: image22.png]@ for an accounting period ended in 2011-12
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from box 382 Adjustment on change of basis

from box 34 Loss from a trade o profession

 for the period 6 April 2011 to 5 Aprl 2012*

" UK taxed interest and taxed altemative
fromBox 298 finance receipts

frombox 397 €IS deductions made by contractors
on account of tax

from box 398 Other tax taken off trading income
from box 784 Income Tax taken off

from bex 3.117Partnership charges
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Copy this figure to box 7
Copy thi figure to box 9

Copy this figure to box 7

Copy thi figure to box 26
Copy this figure to box 28
Copy thi figure to box 29

Copy this figure to box 27

Copy this figure to box 4, ‘Other tax
relies” section on page 4 2 in your
personal tax retum




